[ Efficiency vs vertpos |

~ 0.5

20.45
4
2 04

9
$0.35

=
2
N

Efficiend

10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP

~ 0.5

2 0.45

n

> 0.4F
>

2

S 0.35F
0.3F

0.25F
0.2

0.15F
0.1

0.05F
e

ettici

Ratio
N

o

13
oS
S

-20 -10 O 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 05
>
80.45
£
D 0.4
20.35
0.3
£0.25
()
0.2
0.15
0.1
0.05

lency

.................................................

.................................................

Ratio
lllljllll

N
T

3

0955

Sim. PV z (cm)



	Contents
	Page 1


